FCPS Algebra 2 Common Assessment 2 Name

1 | Find each key feature of the function shown in the graph.
Write the range and domain in interval notation, and assume all values are integers.
(Be careful of the scale on the graph when determining your answers.)
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Choose from the following choices for range. When entering, be sure to type carefully!
(_41 4'] [_41 4) (_41 4) [_41 4]

domain =

Choose from the following choices for domain. When entering, be sure to type carefully!
(-8, 11] [-8, 11) (-8, 11) [-8, 11]

Is the function positive or negative over the interval (-8, —5)?

Choose from the following choices. When entering, be sure to type carefully!
positive negative

*** You must type in answer choice with all lower case letters!




What is the average rate of change for the function over the interval [-6, —4]7?
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B. -10

c. -1

D. -2

Identify the translations of the parent function f{x) = X2 that result in g(x) = (x + 2)% + 6.

A, down 2 units, night 8§ units
B. up 2 units, right 2 units
C. up & units, left 2 units

Do up 2 units, left 6 units

Use the graph of the function f(x).

For what value of x is 4-
the function undefined?
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Which if the following sequences are arithmetic? Select all that apply. There are two answers.

A 11 1 1
3°6712 24 "7
B 1
5. 1.2.4
C 12,7,2, -3,
D. 3, 11,1927, ..
Write the first 4 terms of the sequence defined below. A -6.-1.510
—6, ifn=1 B. -6, -30, -150, -750
Ay = .
a, 1 +5,ifn=>1

c. -6, -11,-16, -21

D. -6.-1,4,9

In a concert hall, there are 16 chairs in the first row, and each row has 4 more chairs than the
previous row. There are 14 rows altogether. How many chairs are there in the concert hall?
(You are looking for the sum of the chairs in the concert hall.)

A BB

B. 588
C. 816
0. 1176

Use the graph to solve —|x — 2| + 4 < 0.
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Solve the system of equations. Enter the answers as improper fractions.

2r+y=1
r+2y=—=6

10 - -1 4]0
What system of equations is represented by the matrix
2 9|1
A —x+4=0 C. —x+4y=0
X+ 8=1 2x + 9y =1
B. x+4y=10 O —x+4y=0
¥+89y+z=0 2X+9y=2z
11 | what is the reduced row echelon form for the matrix?
2 —2 2| 4
0 1 1| 8
0 0 5| 5
A'TT 0 0]47 C 1 0 o] -6
0 8 0o 1 0 7
(0 0 1|5 ] |0 0 1) 1
B T1 0 0]27 b1 o0 o
0 1 0|8 0 1 0
K 0 0|1 |0 0 1|1
12 | What is the equation written in vertex form of a parabola with a vertex of (4, -2) that passes

through (2, -14)?
A y=-3x-42-2

B. y=-3(x—4)¢+2
C. y=3(x-42-2

D. y=3(x+4F+2




13

Function g is a transformation of the parent function f(x) = x2. The graph of g is a translation
left 6 units and up 5 units of the graph of f. Write the equation for g in the formy = ax? + bx +c.

A glx)=x2+10x+ 19
B. g(x)=x"-10x+19
C. gix)=x2+12x + 41

D. g(x)=x2-12x + 41

14

The path of a projectile launched from a 26-ft-tall tower is modeled by the equation
y = -16t2 + 64t + 26. What is the maximum height, in feet, reached by the projectile?

A y
80

60 The maximum height is feet.

40

20

0 X
5

0 1 2 3 4

15

Solve the equation -x2 + 10x = -24.

A x=dandx=65
B. x=—-4andx=-6
C. ¥x=2andx=-12

Do x=-2andx=12

16

Identify the interval(s) on which the function y = 2x2 — 8x - 10 is positive.

A -1zx=<h
B, x<-1andx=5
C. -5«<x=«<1

O x<=-5and x =1

(Hint: graph the equation on your calculator.)




17 | Use square roots to solve the equation x? = -625 over the complex numbers.
Select any solutions that apply.
AL 250
B. 257
C. =240
0. =25
18 | Write the product (6 —i)(6 + i) in the form a + bi, simplifying completely.
A 3T
B. 36—/
C. 3%
D. 12-7
19 .
Factor the expression 100x< + 49.
A (10x+ 7)(10x -7
B, (10x+ 70){10x + 70
C. (10x+70(10x-TH
D. (100x + 7H(x+ 70
20 | A function is defined by the equation y = 2x? + 12x + 24.

Which statements are true? Select all that apply. (Careful. More than two may be correct.)

A. The equation written in vertex form is y = 2(x + 3 + 6.
B. The equation written in vertex form is y = 2(x + 3)% + 24.
C. The graph of the function has a minimum of y =6 atx = -3.

0. The domain of the function is all real numbers.
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Solve x2 + 8x + 5 = 0 using the Quadratic Formula. Select any solutions that apply.

A z=411 -4
B x=4— 1T
Cr=—-4—IT

Doz =44 1T

22| golve 3x2 + 24x + 90 = 0 using the Quadratic Formula.
A. x=4+h_fﬁ and;nr:ai—."y’rﬁ
B. x=—4+;<._fﬁ andx=-4 - i/ 14
C. x=6+3andx=6-3/
D x=-6+3%andx=-6-3/
23 | Solve the equation 6x* — 8x + 1 = x + 4 by writing a linear-quadratic system and solving using the

intersection feature of a graphing calculator. Round to the nearest hundredth.
A, x=-028and x=1.75
B, x=-244andx=312
C. x=-163andx=443

Do x=—1Mandx=21




